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Instructions
Answer all questions.
All questions carry- equal marks.
In this booklet, the questions from
serial no. 1 to serial no. 10 are related

to general awareness while questions -

from serial no. 11 to serial no. 70 are
subject specific.

" Each question has four alternatives
" marked as (A), (B), (C), (D).
Choose only one alternative as an
answer of a question.

If more than one answer is marked,

n it will be treated as wrong
answer.
Candidate has to darken only one circle

indicating the correct answer on the

OMR sheet by using BLUE/BLACK
- BALL POINT PEN.

There is no prov1smn of Negatlge
" markin

Carrymg Moblle phone in ‘the

* examination hall is strictly prohibited.

If any objectionable material is also

found, then action will be taken as per

University norms.
Please fill your Roll No.: and other

" information carefully on OMR sheet.

In case of any mistake on OMR sheet,
‘candidate will be responsible. :

If there is any difference between
English and Hindi version of questians,
then English version shall be correct.
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Which gas.is present 'inv' maxnnum

percentage ip the atmosphere ?
(A) Og

(B) COyp

(C) N,

D) Ar___ ..

. ‘Aaram Haram Hai is the famous

quote of :
(A) Gaﬁdhiji

(13) Bal Gangadhar Tilak
(C) Jawaharlal Nehru
(D) Sardar Patél

. Who was the first woman Governor

of independerit India ?

(A) Vijay Laxm1 -Pandit ‘. .-
(B) Sarojini Naidu

: (C) Indira. Gandﬁ |

" (D) Savitri Bai Phule
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é:gnada is also popular as :
'({\) Ho}y Land

(ﬁ) Land of Mi:h_ﬁghé Sun
(C) ‘Land of Maple- Leaf

D) i.and of Rising Sun

. ‘_ Ih{ a certain code language MIND
becomes KGLB and ARGUE
becomes YPESC, then what will

DIAGRAM be in that eode ?
(A) BGYEPYK
(B) BGYPYEK
© GLPEYKS

(D) LKBGYPK

24-Geology
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(A) BGYEPYK

- (B) BGYPYEK

(C) GLPEYKB

(D) LKBGYPK



Three out of the four given

alternatives are same in a certain

way and form a group. Find the odd

" one that does not ’_b'elong‘ to the |

group
(A)‘ Triangle
(B) Ta_ngent' |
(C) Square
-.(D) Pentagon
A is thé 'daugh'tér of B. B is the

mother of C. D is the bi'other of C.

What is the relation of D with
A7 _ o
(A) Father

'V(B-)‘ Grandfather ’

'(C.) Brother -

(D) Son -

Choose the correct word to fill up the

o blgnk :

(D) none of the above
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9. Choose the correct word to fillup the | 9. & Tm =t W % fa ‘H't"»'\‘ =
fblank : , | o ﬁﬁ! :
Take the stale bun away and bring | Take the stale bun away and bring
the ot one. the ..ol one
(A) New . S (A) New
(B) Fresh 7 B ) (B) Fresh
(C) Good - (©) Good
(D) Sweet B | | (D). Swéet
10. Syhpnym_ of ‘Anomaly’ is : 10. ‘Anomaly’ &1 Taigar=t ¥ :
(A Ncl)’m.lality S | (A) Normality
" (B) Abnormality | (B) -Abnormality | |
(C) Regularity . ' (C) Regularity -
' (D) Standard . " (D) Standard -

24-Geology - ‘ "6



11.

12.

Flat surface around a crystal ~_are‘

called :
(A) Cleavage

(B) Joint

, (C)‘ Face

‘ (D) Plane

How many crystallographic axes are

. present in a crystal belongmg to

13.

hexagonal system ?

(A) 6

B) 3

© 4

D 2 |
Crystals Ahave been divided into hové |
.msny greups > o
w6

| ®) 9

(©) 5

D) 12

24—-Geology
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15.

(B)

‘What is the basis of dividing the

crystal system into classes ?
Difference in the size of crystals

Difference in symmetry
_elements present in crystals
Presence - or absence of

(&)
- cleavages

(D) None of the above
Which type of symmetry axis is not
found in crystals ?

(A) 2 fold

B) 3 fold

(C) 5 fold

16.

(D) 6 fold
Contact Goniometer is used to
determine the :

(A) Number of symmetry planes in
the crystal

- (B) Type of symmetry axis 1n the

crystal

(C) Angle between twe adjacent
- faces of the crystal -

(D) Ratio of lengths of varlous'

' crystallographlc axes in the
crystal



17. The process of conversion of ordinary | 20. The mineral generally used for

light into polarized light is known constructi._on of Nicoi prism is :
as: o 0 (A) ‘Dolomite |

(4) .Polarisétidn | | | (B) Calcife

‘(B) Pleochroism - (C) Barite
. '(C) Doble refractién - D) ﬁomblende

(D) Twinning 21. How many Nicol prisms are fitted

18. lThe properties of ininerals studied . in a petrological micmécope ?
“under mici'oscope are known as : ( A)‘ 2 | |
(Ab Physicél ' (B; 4 |
(B) Chemical . N
© Mag‘netic. = _ , D) 3 .

(D) * Optical 22. How many minerals are

19. Which of the followingvmine‘rals is| i'.n"corporated invMoh’s Scale of
.. composed of carbon ? ._ | ~ Hardness ?
&) Caleite -~ | W n
(B) Baryte - | ®w0
. A(C) Graphite | ) (C)' 9
(D) Gypsum | | D 12

24-Geology . 8



23.

The fundamental unit in bulldmg of

Silicate mmerals is :

. (B) SiO

24.

(C)' Si03 :

Whlch mineral has been ass1gned
hardness of 7 in Moh’s Scale of
Hardness ?

(A) Quartz.

(B) Topaz

25.

, (C) Feldspar
(D) Apatite

The Si : 0 ratio in Neosilicate

- minerals is :

(A) 1:

(C) 1

2
B)1:3 -

4

1

Q>.(D)‘1":

26.

The luster of Quartz mineral is :

‘ (Aj Pearly

(B) Silky
(C): Greasy -

(D) Vitreous

'24-Geology
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28.

29.

Calcite is charactenzed by the :

followmg shape :
(A) Cublc

(B) Fibfoﬁs_ :

© Prismatic

(D) ﬁho,mbié

A 'di'scor‘lformity is :

(A A rock unit that does not

“contain fossils

(B) ‘An erosional éuffa_c‘e ‘between

igheous and metamorphic rocks

] (C) An erosional surface | _‘betWeen

horizon‘tal:‘ sedi'ménfary rocks

(D) An em_sionél surface between’

igneous and sedimentary rocks

Which-of the following could be used
: to tell if a rock layer i is right s1de_

up or ups1de down ? -

(A) Graded bedding
'(B) Faults

' (C) Lineation

(D) None of the a’boye »



30.

31

A fold with parallel arrangement of
lili_lbs is : |

! o
(A) Isoclinal fold

(Bﬁ Inverted fold
(C) Symmetrical fold
(D) Parallel fold

A clinometer compass is used .to

measure :

" (A)- Strike direction

32.

24-Geology

i o |
(B) Strike ‘and dip direction

(C) Strike, dip di;ection and dip

amount

(D) None» of the above

, Dip‘of a bed measured perpendicular

to strike direction is called :
(A) Normal dip

(B) False dip

(C) True dip

(D)}- Apparent dip

10

33.

34.

35.

Which of the following processes can

lead to the formation_ of faulfs ?
(A) Compression

(B) Extension

(©) Shearing

(D) All of the above

Which of the followi‘ng‘ flactors is
Ifesponsibl.e for metamorphism ? |
(A) Heéf |

(B) Preésure

© Chemically activg ' ﬂuidé

(D) All of the abqve

Which of the following is a

- metamoi'phic rock ?

(A) Syenite
(B) Basalt
(C) Granite |

(D) Quartzite



. 36.

37.

,'38;

24—Géongy

(0) Gramilite |

(D) Slate

- A metamorphic rock with alternate

,- light and dark-bands can best b-e‘

described as :

(A) Gnéiss

(B) Schist

< e
b H

Meté.morphism of sandstone will

result in the formation of .

’(A)‘ Charnockite
' (B) Quartzite
. (©) Marble('” |

(D) Gneiss

Igneous rocks are formed by coolmg/
crystallization of :
(A) Lava

(B) Magma

~(C) Both (A) and (B) -

(D) None of the ,abové;.

1

-39.

4.

(©)

- Which of the following minerals is

never present in ‘granité ?
(A) Biotite

(B) Orthoclase

(C) Olivine

(D) Quartz

Which of the following statements

- is true for volcanic rocks ?

(A) They are formed by eruption of

Vl‘avavo_n the surface of the eérth
(B) They are ﬁne-gramed :
They show effects of rapid
cooling '
(D) ‘All of the above

Sedimentary rock mainly composed

of calcite is :

(A) Sandstone

B) Limestone

(C) Shale

(D) Arkose



42. Which of the following is
sedimentary rock ?
(A) Sandstone
' (B) 'Granite
(C) Quartzite
(D) Marble
43. The halite is composed of :
(A) 'Pofassiﬁm chloride
' .'(B) Sodium \chloridg'
(C) ‘Calcium chloride
| (D) i()élcium bromide
44.
Vindhyan Supergroup ?
(A) Rewa
(B) Bhander
(C) Kaimur .
(D) Semri -
45. Jurassic peri&d is ,;followed by :
() Permian
‘(‘_B). Triassié
(C) Cretaceous -

)} Neoproterozoic

24-Geology

Which is the top most formation of

46.

The Gondwana sediments named

after the Gond'_ Kingdoni» from :

" (A) Bihar =

~ (B) Uttar Pradesh

47.

(C) Gujarat

(D) Madhya Pradesh

Whi(;h is the oldest rbcl; group; in
Rajasthan ? | |

(A) BGC

" (B) Aravalli

48.

12

(C) Delhi

D) B»i‘rma‘nia‘ :

Hill ranges eﬁposed a.round Jaipur
city beulong to :

(A) Vindhyans

" (B) Dharwars
(C) Delhis

D) Cambrians | .



49.

50.

51.

_ %Geolegy

(D). None of the’ above

What are’ fossils ?

(A) Orgaﬁismsf buried in the recent

sediments

B) Org’ani"sms_‘ lived in .the 5

geological .past o
©) Remains of erganisms lived in
the geological pa_s_t.j ‘and ‘buried
' under the sediments |

(D) Something dﬁg up
Why are fossils useful ?-
(A) They are decbfativ’e pieces -

(B) They oceur in Re.jasthah

(C) They tell i_nany things about |

the -geological past

‘What ’ie a Glossoj)teris ?

(A) It’is a leaf-fossil of Lower

Gondwana
(B) Itisan index fossil of Gdedwaﬁa |
Supefgroup_' o |
(©) 1t is a leaf fossil ef.'Cretaceeue

(D) It is a fossil-wood

13

52,

53.

| 54,

What is Physa ?
(A) It is a leaf fossil

" (B) Itisa dextrally coiled gastropod

(C) Ibt“ is a sinistrall{y‘ coiled'
gastropod | L |

(D) None of t:he. a‘b_dve

Calymene is Trilbbite" :

(A) with spines |

(B) W_it'heu‘t. spines

(C) with very large ,eyes

(D) without 'eyes

Invertebrate Palaeontology deals |

. with :

" (A) All the fossils

(B) Only vertebrate animals fossils |

(C) Only invertebrate animals

fossile :

(D) Plant fossils -



]
55. Muréx is a :

56.

(4) Plant fossil

(B) i’er‘te/brate -animal
(C) \I.nver‘tebraf.:e | animal
(D) Microorganism |
Fossils are found ‘in- :'

(A) Igneous rocks

~ (B) Sedimentary rocks

57.

58.

24-Geology

< Metamorphic rocks
D) In all types of rocks

\1 i ‘. .
The terms “ore” includes :

(A) Ore minerals only .

(B) Gangue minerals only

(O O'i'e minerals and Gangue

minerals both
(D) Gangue and tenor

Baﬁxité is formed BY .oeveeeeemeereeeeeeerens

process.

(A) Re_sidual' concentration

-

(B) Hydrothermal

() Se’dimentation

(D) Métaxﬂorphism .

59.-

60.

| 61.

| s2.

‘14

Palana -

Wolframite i's an-ore of :

(A) Vanadium

(B) Cobalt

(C) Antimony

(D) Tungsten -

Which is a radi‘dactive mineral ‘?
&) Gold

(B) Copper

(C) Iron

(D) Uranium

Which district has the la‘r\gesbt‘ -gbod
quality of marble deposits in
Rajasthan ? '
(A) Nagaﬁf (Makarana)

(B) Barmier |

(C) Jodhpur

(D) Baran

‘is ~ famous for

(A) Lignite

(B) Gold

" (C) Copper -

(D) Iron



63.

64.

Oldest and deepest Gold Mine in

India is :

~ (A) Kolar

(B) Khetri
© ‘Z.awar
(D) Rampura-Agucha.

‘Hematite ‘and Magnétite are ore

of :

(A) Gold
| * (B) Copper
o (C)' Iron

@ Zinc

65.

66.

- D Muscovite
24-Geology -

Which is a fertilizer mineral ?_
(A) Gypsum
(B) C_opper

(C) Diamond

(D) Feldspar -

‘What mineral is the hardest known |

,subéténbe in nature ? -~

(A) Graphite

_(B)' Native Gold*

(C) ADiamond

- 15

67.

Copper deposits in Rajasthan are

© (A) Ranipura-Agﬁcha

" (B) Khetri

68.

| 69.

(C) Kolar
- D) k_De‘ga.n.a

| Sphelarite is an ‘ore of :'
B “(A) Coppér ‘

' (B) Lead

(C) Zinc o

(D) Iron

In India, Mica occurs in :

(A) Bihar |

(B) Rajasthan

(C) Andhra Pradesh

- (D) All the above are correct |

70.

'Lim.estone is useful for :

(A) w(v)emem; industries’

(B) Gemstoneﬂb

(0 Radioactive

(D) Fertilizer
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